



Vendor Ranking

Page 1 of 1

 Letting:
 07250514
 May 14, 2025 11:00 AM
 Call Order: 001
 Contract:
 E7Q32

 District:
 District 7
 Counties:
 PASCO
 Fed Aid No: N/A

Contract Time: 120 AVAILABLE DAYS

Project(s): 44383715201 (*)

Contract Desc: US 19/SR 55 - BRIDGE-REPAIR/REHABILITATION (BDI)

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TITAN CONSTRUCTION MANAGEMENT L	Responsive	Winning bid	\$1,728,143.00	100.00%
2	M & J CONSTRUCTION COMPANY OF PINELLAS COUNTY, INC.	Responsive	Non-Winning Bid	\$2,463,546.66	142.55%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

 Letting:
 07250514
 May 14, 2025
 Call Order:
 001
 Contract:
 E7Q32

 District:
 District 7
 Counties:
 PASCO
 Fed Aid No:
 N/A

Contract Time: 120 AVAILABLE DAYS Project(s): 44383715201 (*)

Contract Descr: US 19/SR 55 - BRIDGE-REPAIR/REHABILITATION (BDI)

The Improvements under this Contract consist of performing substructure, slope and fender repairs on Bridge No. 140005 in

Pasco County.

Note the Substituted Commercial General Liability Insurance requirements contained in section(s) 7-13.2 of the project Specifications.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to SmallBusiness@dot.state.fl.us

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the AASHTOWare Project Bids application.

BDI Reference Sheet may be found at https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Alternate Item Description	Quantity Units	(1) TITAN CONSTRUCTION MANAGEMENT L		(2) M & J CONSTRUCTION COMPANY OF PINELLAS			
() indicates item is bid as Lump Sum	O I II I	Unit Price	Ext Amount	COUNT Unit Price	Y, INC. Ext Amount	Unit Price	Ext Amount



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting : 07250514 M	ay 14, 2025	Cal	l Order: 001		Contract:	E7Q32	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TITAN CON MANAGE		(2) M & J CON COMPANY O	F PINELLAS		
() indicates item is bid as Lump Sum	· · · · · · · · · · · · · · · · · · ·	Unit Price	Ext Amount	COUNT' Unit Price	Y, INC. Ext Amount	Unit Price	Ext Amount
SECTION: 0001 S	structures						
0005 0104 11 FLOATING TURBIDITY BARRIER	1,272.000 LF	11.00000	13,992.00	18.00000	22,896.00		
0010 0110 4 10 REMOVAL OF EXISTING CONCRETE	1,298.000 SY	63.00000	81,774.00	162.00000	210,276.00		
0015 0120 1 REGULAR EXCAVATION	1,514.000 CY	68.00000	102,952.00	168.00000	254,352.00		
0020 0401 70 3 RESTORE SPALLED AREAS, LATEX MODIFIED MORTAR- ACRYLIC	1.000 CF	1,500.00000	1,500.00	2,000.00000	2,000.00		
0025 0455 76 WRAP PILE CLUSTERS	136.000 EA	1,500.00000	204,000.00	800.00000	108,800.00		
0030 0457 2121 CATHODIC PROTECTION INTEGRAL PILE JACKET, NON-STRUCTURAL, 16 30.", GALVANIC SYSTEM	16.000 LF 6.1-	2,500.00000	40,000.00	1,900.00000	30,400.00		
0035 0457 2221 CATHODIC PROTECTION INTEGRAL PILE JACKET, STRUCTURAL, 16.1-30 GALVANIC SYSTEM	30.000 LF .",	3,000.00000	90,000.00	1,800.00000	54,000.00		
0040 0460 1 13 STRUCTURAL STEEL REHAB- BOLTS NUTS, WASHERS & PLATES	1,106.000 S, LB	90.00000	99,540.00	10.00000	11,060.00		





Tabulation of Bids

Page 3 of 6

Letting:	072505	14 Ma	ay 14, 2025	Cal	l Order: 001		Contract:	E7Q32	
Line No / Iter		Alternate	Quantity Units	(1) TITAN CON MANAGE		(2) M & J CON COMPANY OF	FPINELLAS		
() indicates ite		mp Sum		Unit Price	Ext Amount	COUNTY Unit Price	r, INC. Ext Amount	Unit Price	Ext Amount
SECT	ON: 0001	St	ructures						
0045 0471 1 FENDER SYSTE LUMBER,REINF	M,PLASTIC	MARINE	3.200 MB	42,000.00000	134,400.00	56,278.00000	180,089.60		
0050 0471 1 FENDER SYSTE LUMBER, NON-	M,PLASTIC		1.200 MB	59,000.00000	70,800.00	72,000.00000	86,400.00		
0055 0530 1 RIPRAP, SAND-		AGS	96.000 CY	400.00000	38,400.00	1,250.00000	120,000.00		
0060 0530 3 RIPRAP- RUBBI		ND SHORE	1,886.000 TN	305.00000	575,230.00	242.00000	456,412.00		
0065 0530 7			672.000 TN	250.00000	168,000.00	520.00000	349,440.00		
	0001 Struc	tures Sect	ion Totals:	'	\$1,620,588.00 [°]		\$1,886,125.60		
SECT	ON: 0002	Ro	oadway						
0070 0101 1 MOBILIZATION	1438371520	1	(1.000) LS	35,000.00000	35,000.00	405,000.00000	405,000.00		
0075 0102 1 MAINTENANCE 44383715201	OF TRAFFI	С	(120.000) DA (LS)	20,000.00000	20,000.00	121,000.00000	121,000.00		



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	07250514	May 14, 2025	Cal	Order: 001		Contract:	E7Q32	
Line No / It		ate Quantity Units	(1) TITAN CON MANAGE		(2) M & J CON COMPANY OF	PINELLAS		
() indicates	item is bid as Lump Sur		Unit Price	Ext Amount	COUNTY Unit Price	Y, INC. Ext Amount	Unit Price	Ext Amount
SEC	TION: 0002	Roadway						
0080 0102 WORK ZONE		750.000 ED	1.00000	750.00	0.30000	225.00		
0085 0102 CHANNELIZIN VP, DRUM, OI	IG DEVICE- TYPES	1,198.000 I, II, DI, ED	1.00000	1,198.00	0.17000	203.66		
-	74 8 IG DEVICE- PEDES UDINAL CHANNELIZ		1.00000	480.00	0.12000	57.60		
0095 0102 ARROW BOAI ARROW PANI	RD / ADVANCE WAF	30.000 RNING ED	1.00000	30.00	9.60000	288.00		
0100 0102 PORTABLE C SIGN, TEMPO	HANGEABLE MESS.	37.000 AGE ED	1.00000	37.00	16.80000	621.60		
0105 0102 TYPE III BARF		60.000 ED	1.00000	60.00	0.42000	25.20		
0110 0999 INITIAL CONT NOT BID 4438	INGENCY AMOUNT	(1.000) T, DO LS	50,000.00000	50,000.00	50,000.00000	50,000.00		
	0002 Roadway	Section Totals:		\$107,555.00		\$577,421.06		



05/27/2025

Tabulation of Bids

Page 5 of 6

Letting: 07250514 May 14, 2025		Call Order: 001		Contract:		E7Q32		
		te Quantity Units	(1) TITAN CONSTRUCTION MANAGEMENT L		(2) M & J CONSTRUCTION COMPANY OF PINELLAS			
•	() indicates item is bid as Lump Sum		Unit Price	Ext Amount	COUNTY, INC. Unit Price Ext Amount		Unit Price	Ext Amount
	Contract 0	Grand Totals:		\$1,728,143.00		\$2,463,546.66		



05/27/2025

Tabulation of Bids

Page 6 of 6

Letting: 07250514

May 14, 2025

Call Order: 001

Contract:

E7Q32

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.